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20202 A|HE HOI|A ZAM ZSEH
(THR]: ® R
M N =
74 A} OH x| Z0f| Atet H| TLAIH| 74 ALOH x| Z0f| AreH Hf i AH|
3'.:}%4 =21 =) L= %A?:}' (=) -T';I'I:E” =21 "1 4l o [ | %Q_A‘j:l_ o
A B % A B %
(A) (B) (A-B) (%) (A) (B) (A-B) (%)
1. &= | 129,966,639 | 130,874,000 | A907,361 | 92% |1. O|AFS|H|| 5,339,000 | 6,835,000 [A1.496000 | 4%
2. EX¢ 0 0 0 0% |2. AF&H| | 1,888,820 | 1,899,000 |A 10,180 1%
3. MEE . 3.8 At 0
~ o 1,810,000 | 1,810,000 0 1% A H| 3,713,080 | 3,783,000 | A69,920 3%
4. 0|32 | 2,430,092 | 2,430,000 92 2% 4. H=2 | 116,614,890 | 116,617,000 | A2,110 | 85%
5. 7] & =
o) xa 3,000,000 | 3,000,000 0 2% |5. EXtH| | 2,050,250 | 2,051,000 | A750 1%
=10
6. MEL
6. & | 4,201,601 | 4,211,000 | A9,399 3% Al = 0 0 0 0%
=
7. =6|= 0 0 0 0%
8. &X|& | 7,385,300 | 11,140,000 | 23,754,700 | 5%
MUS Al | 141,408,332 | 142,325,000 | A916,668 | 100% |MIZ=EA | 136,991,340 | 142,325,000 | 25,333,660 | 100%




= A Anol | HBol Mo v DB(A)2 et
a | = = (A) (B) (A-B)
- Rl k=2 129,966,639|130,874,000| A907,361
1. 7| 25 &= 127,916,389|128,824,000| A 907,611
O EXl =
1. x| =2 5,651,000/  6,560,000| A909,000 |~ 5 goof(soixiz A=)
2. of=¢l 0 0 0
3. ol 2ol Xt5=2f | 86,099,722| 86,099,000 722 (O 7| 2™ &t 7|0l F ol Xt5=¢
1.5,275,430,3028 x 1.85% x 1271&= 82,820,037
2.55,640,360% X 1.9% X 1270 ¥= 904,412
3. 61,450,000 X 2.2% X 127 €= 1,158,802
4.54,302,330X 2.5% X 127 ¥= 1,148,508
5.55,640,3608 X 0.6% X 370 &= 66,548
6.2,050,250% X 0.6% X 41= 1,415
2t Al (1-6) 86,099,722
4. HolM 23| 17,318,420| 17,318,000 420 |O 20204 =& HOIM =2 17,318,420
(Heols) 1. el gaa 15,743,720
2, F| BN S 1,574,700
5 7|Et2 18,847,247 18,847,000 247|0 FAUIEZ 18,847,247
1. @oleil: 50009 x13,980%F x25% 17,475,000
2. MEes: 50008 x4,574%F x6% 1,372,247
2. X Atof 2t = 2,050,250 2,050,000 250
1. EX|ojz==2l| 2,050,250| 2,050,000 250 0w sua sael mo-iam), sanem sunz =z 2,050,250
2. =0 Z=¢ 0 0
3. 7| EtR Ao 2t 4 ) 0 0
N ] 0 0
1. & X2 0 0
1.8 &2 0 0
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= IRV e P E T ETONE e =
o | st = (A) (B) (A-B) FX
3. Mz 1,810,000| 1,810,000 0
1. MdE¢ 1,810,000| 1,810,000 0
1. 7128 A= 1,810,000| 1,810,000 0|0 MATE =X U2 & 7H(2AXZ Fx)
4. 01432 2,430,092 2,430,000 92
1. ddzold= 2,430,092 2,430,000 92
1. MATYo{Z| 2,430,092 2,430,000 92 O Mz olg2
1. M (CHX| =, 7| Eto| FOIA}) = A59,773
2. O|A}E|H| = 402,000
3. AHRH| = 276,065
4, M MZ=MH| = 20,370
5. M&F = 740,320
6. FAH| = 310
7. &4 & = 1,050,800
g A(1-7) 2,430,092
5. 7|R=3F 3,000,000 3,000,000 0
1. 7|8 =x=a 3,000,000{ 3,000,000 0
1. 7|22 3,000,000 3,000,000 o, sHEYs| (MY EEF AL8) 3,000,000
6. &=l 4,201,601 4,211,000 29,399
1. ol 20l At 89,989 100,000| 410,011
1. H7|o| 20| R} 0 0 0
2. 7|Efof| 20| X} 89,989 100,000( 210,011 |O #eols|A 250 Z0|Xt 89,989
2. &g 4,111,612 4,111,000 612
1. @M e3Z| 4,111,612 4,111,000 612 [1. 2020 & stmH| Holsl &322 3,614,890
(mE) O HMZ 747,760
O olzlgAdo s 507,710
Ogdn 1,150,390
O olz|gd4oin 1,209,030
2. a5d| Ea(HAEESF) 496,722
g Al(1-2) 4,111,612
Ml ' A 141,408,332|142,325,000| A916,668




G |Hmomee| EESE NS
5,339,000| 6,835,000| A1,496,000
5,339,000|  6,835,000| A1,496,000
1,800,000{ 2,800,000 21,000,000 |O O|AtE|&A] Qlgl4=Ct 1,800,000
1%t 100,0008 x7Y 700,000
2%} 100,000 X113 1,100,000
0 0
3,539,000|  4,035,000| A496,000 stet =5t (12H) 589,000
MEH(EFE 13]) 1,250,000
.52 =z(4H) 1,700,000
g Al(1-3) 3,539,000
1,888,820 1,899,000 -10180
1,888,820 1,899,000 -10180
150,180 160,000 29,820 |O AFRA Mt F(23]M) 150,180
1,738,640 1,739,000 A360 Al2CH: 123,000 x 43] 492,000
MEE=HT$E 1,000,000
SIS (ASAE, Jalu) 237,840
SCURIEAM w2 (235]) 8,800
g Al(1-4) 1,738,640
3,713,080| 3,783,000  A69,920
3,713,080| 3,783,000  A69,920
1. A &R K| 0 0 0
3,713,080 3,783,000 269,920 [1. E7I7kx|A| 610,780
. KHARM| (58 EX]) 3,035,650
oA 55,000
.l A O KA S Al 11,650
g #l(1-4) 3,713,080




M= (bl - #l)
ni 2
= ; - = G |Hmeinae)| TEESE &%)
4. MEZ 116,614,890| 116,617,000 A2,110
1, 8&3 116,614,890( 116,617,000 A2,110
1. AFHF|  69,800,000| 69,800,000 o1. M =stm 600,000
2. 02| HM0{ XS5t 600,000
3. M nSstn 68,000,000
4. ol2|gHoixtnSstm 600,000
g Al(1-4) 69,800,000
2. Ml At 6,300,000 6,300,000 opt. g8 Estm 100,000
2. o|2| M oAt Etn 100,000
3. FMFstm 6,000,000
4. ol2|gModAt IS5t 100,000
gt Al(1-4) 6,300,000
3. z=dRez|  30,900,000( 30,900,000 o|1. M &5t 300,000
2. olz| 4N o{xtE st 300,000
3. HMDESIM 30,000,000
4. o|2|'ZM oAt n S &t 300,000
gt Zl(1-4) 30,900,000
4. 9¥olMgE32| 3,614,890 3,617,000 A2,110 (1. @M Sstm 747,760
2. o|2| Ao XtEstm 507,710
3. g8 nSsn 1,150,390
4. Ol2| HM 00Xt DS 1,209,030
g Al(1-4) 3,614,890
5. 7B EF 6,000,000| 6,000,000 0|0 UM nSstm
1. 1g8eg 4,000,000
2. A EEHE 2,000,000
g Al(1-2) 6,000,000
5. FAtH| 2,050,250 2,051,000 AT750
1. FXHy| 2,050,250 2,051,000 2750
1. 7| EFFRH| 2,050,250 2,051,000 AT750 [O =X ozt 3 7ol 3 ol x| (Mo2 3T, ol x(7|2H 12 122, 20| 0.6%)
2l 2o YAl2] 790-1(23m), 537-2(116m) BYM HatD 2,050,250
6. MAEX|&E 0 0 0
1. MHEX| & 0 0 0
1. MHEX&E 0 0 0
2. HAS AL X| & 0 0 0




® M E (Ebgl : £)
n AR zzouag)| ESLE 5 7|
2 | & = (A) (A-B)
7. 8= 0 0 0
1. &g 0 0 0
1. &st3g 0 0 0
8. &x|& 7,385,300| 11,140,000| 43,754,700
1. M x|1& 7,385,300| 11,140,000| 23,754,700
1. 25| 6,115,300[  9,870,000| 23,754,700 O_%fj‘j&éﬂfﬁffjjﬁ%%;n,%!)
12; EXALEE YIS 2 284.000
2. QX 2 BB (L) 531,300
3. 2&FAR(g) 3,300,000
g AI(1-3) 6,115,300
2. 7|EMIX| & 1,270,000 1,270,000 O1. T=ALetR QI3 5|y| 1,270,000
- 245,013 10,0008 X 3632 = 360,000
— H1.0{11 15,0009 X 5453 = 810,000
— 2J2I3|8| 100,0008 X 1% = 100,000
9. oflt|u] 0 0 0
1. ofld]H] 0 0 0
1. ofld|d| 0 0 0
M & g A 136,991,340 142,325,000|A5,333,660




